i WEEKEND QUICKIE
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Horatio Hypochondria has been absent from school so long that even he has forgotten where his desk is
classroom. Horatio callgabu about 6:30 P.M. (Horatio, as we all know, has more brass than a band.) an
begged you to “catch him up” on what he has missed in your favorite BRISSONOMETRY . Horatio
seems to have forgotten everything! You start to panic and then remembeuhavesome trig expertise
will save the day for HoratioYoucanchange Horatio from a lowly pretender to a worthy contender! You
quickly jot down the following list of topics.

You will turn in your written (and very explicit answers) to the following questions. Include drawings whel
they will help to clarify a point you are making but remember that pictures are not to take the place of
explanations! This homework is worth 5 regular assignmémsy the very best and most complete
responses should expect pluses.

Explain everything there is to knoabouta, b, ¢, andd in : aFctn (bx—c) +d.

Explain how knowing which intervals on the x-axis correspond to which quadrants on the unit circle hely
in drawing the graph @nytrig function. Explain what the “argument” is. Explain how we determine the
NEW period length.

Explain what a “generic” picture is and how we use it. Explain how the “asymptote method” and the “ze
method” are similar and how they are different and when you and why you would use each to assistin
drawing the graph of a trig function.

Explain, in words, how to properly graph the functiok(:x) = Zsin(% X = ’—g)

Draw the graph of (x) . Be sure your method is VERY clear to Horatio (and me). On each picture, selec
1 point on the graph which is not on an axis and estimafextlyd coordinate.
Computéd ( of thatx-value). Your estimate and your computed value should be very close.

1) f(x) = 2sinx + cosx 2) f(x) =2sinxcosx 3) f(x)= \sin® 4x + co$ 4x

4) f(x) = cos} x + 2 sind x 5) f(x) = csé x - cof x

Explain what “omega” is.Explain what “ rho “ is.

Explain the difference between rotational , linear, and angular velocities.

ExplainEVERYTHING there is to know about two points traveling around a non-unit circle at different
speeds ( and directions) .

p, starts at (3, O)anpi2 starts(é{ﬁ,%), w = -z anzd = -F.

1)  When will the two points coincide for the firsttime after t = 0 ? Mlste compute the

coordinates for that first meeting. Next uezeto compute the coordinates. They are the same
point aren't they?

2)  When AND where will the two points coincide for thed time after t = 0?

Close your phone call from Horatio with a “Thank you.” becauseyoaware ready for your 3 trig exam



